
1.  1

1 1
-1

- 1

-

-

-

-

-

-



1.  1

1

-1

- 1

-
-

-1

-

-

-

2.

-1
-

1.
2.
3.
4.
5.

.

;
-1

-

1.
2.
3.
4.
5.

.



,

3

 ;

-1
-

1.
2.
3.
4.
5.

3.

-

-

-

70% - 89%

55% - 69%

0% - 54%

70% - 89%



55% - 69%

0% - 54%

4.

1

.









2.

___
1.

1 3 3 4
5 2 2 3

.
3 4 1 1
6 2 3 1



2. A B ,B A
5 2

3 4 2
= 1 3 , = .

0 5 7
4 6

A B

3.
0 1 6 1 1 5

3 = .
2 4 4 3 3 1

X

4.

1 2 3

1 2 3

1 2 3

3 1,
2 3 5 2,
3 5 8 3.

x x x
x x x
x x x

5.

1 2 3 4 5

1 2 3 4

1 2 3 4 5

1 2 3 4 5

3 4 5 3 5,
2 2 3,
4 2 2 3 7,
2 4.

x x x x x
x x x x
x x x x x
x x x x x

6.

1 2 3 4 5

1 2 3 4 5

1 2 3 4

3 2 2 5 = 0,
2 2 3 2 5 = 0,

= 0.

x x x x x
x x x x x

x x x x

___

1. , , .



;

;

.

2. C AB
(0; 3;1)A , (4; 4; 2)B : 4 : 2AB CB .

3.

, , .

4. ABCD
(0; 3;6), ( 12; 3; 3), ( 9; 3; 6)A B C

;D
D ;AB

AC BD .

5.

.

6. OZ
.

7. (1; 5; 4)A , ( 1; 2; 3)B , ( 2; 4; 3)C , (1; 0; 6)D
ADC .

8. 1 4; 2; 1e , 2 5; 3; 2e , 3 3; 2; 1e
12; 7; 4x



___

1. ( )y x
453

2 );
2

2(1/ln ) ;

2 2

4 3

2 1 71) = (sin 8 cos5 ); 5) = ln ;ln 3 1
1 4 (12) = arctg ; 6) = 4 7

(1 tg 3 )

arctg 33) = 3 2 cos3 ; 7) = (lnsin5 )

= 2 3 , = 2sin 4 ,
4) 8)

= 1; = 5cos 4 .

x

t

t

xy x x y x
x

xy y x
xx

xy x x y x

x t e x t

y e y t

2. y
4

2 3

= (3 / ) (5 / ),arcsin1) = ; 2)
1 = ( 7) / .

x t txy
x y t t

3.

03

2

0
2

1 11) = , = ;
sin 2 4sin 2

= ( 1),
2) = 3.

= ,
1

y x
x x

x t t
tty

t

4.
2 2

2

( ) sin 3 51) ; 2) .lim lim1 cos 3 1x x

x x x
x x





3.

4.

1.

2.

3. .

4.

.

6 .

7
.

-

-

1. 3;
2. 34;
3. 0;
4. 3.

461
1172
523

),1;4;3(A ),0;8;2(B ).2;5;1(C

)4;9(M

7
2

5
1 yx

25
4
72

tz
ty
tx

01393 zyx

yx 322 01342 22 zyx



2 2 1 1 1 1 2
= , =

1 0 3 3 2 1
A B

1. 0 1 5
;

5 4 1
3. 3 1 4

;
1 2 5

2. 1 0 3
;

2 2 2
4. 4 3 3

.
7 4 5

(3;2; 1)A B
1. 9;
2. 10;
3. 51;
4. 11.

1. 8; 3;0 ;
2. 11;
3. 6;

4. 6.

0( 3;7)M 1 2
5 4

x y

1. 4 5 23 0;x y
2. 4 5 23 0;x y
3. 5 4 43 0;x y
4. 5 4 43 0.x y

(3; 1)A B
1. 6 17 0;x y



2. 6 17 0;x y
3. 4 5 17 0;x y
4. 4 5 17 0.x y

25 2 6 11x y y
1.
2.
3.
4.

(2; 3; 5)A

1. 2 3 5 13 0;x y z
2. 3 2 5 12 0;x y z
3. 3 2 5 13 0;x y z
4. 2 3 5 12 0.x y z

5; 2;1
1. 15; 6;3 ;
2. 15; 6;3 ;
3. 15;6;3 ;
4. 10; 4;2 ;
5. 10; 4;2 .



2 4 2 0x y

1. (1; 3);
2. ( 9;5);
3. (9; 5);
4. (3; 1);

1. 2 23 4 10;x z
2. 23 4 5 0;z y

3. 2 23 4 2;x y
4. 2 28 4 7.y z

1 2 3 4, ,b b b b
1

2

3

4

2 1 3 0 4
4 3 1 2 0
2 1 7 5 2
0 1 3 1 3

b
b
b
b

1. 3;
2. 14;
3. 8;
4. 37.

1.  35;
2. 3 17 ;
3. 13 ;

4. ;

0 0, ,x y p 24 4x y y
2

0 0( ) 2 ( )y y p x x .



1. 2;
2. 1;
3. 2.

0 0 0, , ,x y z R
2 2 2 4 6 12x y z x y z 2 2 2

0 0 0( ) ( ) ( )x x y y z z R
1. 7;
2. 3;
3. 2;
4. 6.

3 0 2
1 4 1

2 5 3

1. 21a ; 12;
2. 32a ;
3. 33a ;

4. 13a .

-
1. 2 2 23 5 0;x y z
2. 2 2 23 4 1 5 0;x y z
3. 2 2 4;y z
4. 2 22 7 3 ;y z x
5. 2 2 23 4 5 15x y z .

1 2 2 2
0 1 3 2 ,
0 0 2 4

A



(4; 5)A B .

 1

 2

 3 .

 4

 5

.
52

1
lim 4

2sin3

0 xx
e x

x

.ln= 3 xxy

xrctgxy a1ln= 2

yxxz ln=

yxyxyxz 63=);( 32





ax



5.

1.

.

-

2.  1-

-



3.

18- -

14- -

11- -
;

0- -

4.




